HN.2 (mod 5)

blocks | defect matrix
G: 1 6 63 x 32
2 1 5 x4
3 1 5 x4
4 0 13125001 = X254+ P17+
5 0 23750001 = X40,0, ¥21,0
6 0 23750002 = X40,1, ¥21,1
7 0 41562501 = X48,0,¥$24,0
8 0 41562502 = X48,1,¥24,1




Block 1: | 10 ®1,1 ¥20 $21 ©30 31 P10 P41 P50 P51 £6,0
11 = XLO 1 .
1o = x11 1
266, = You 1 1
7601 = X4,0 1 1 . 1
7602 = X4,1 1 1 1
33441 = x50 1 1 1 1 1
33445 = x51 1 1 1 1 1
175561 = X6+ 1 1 . 1
89101 = X8,0 1 . 1 1
89102 = X8,1 . 1 1 1
94051 = X9,0 1 . 1 .
94052 = X9,1 1 1 .
169291 = X10,0 1 1 . 1
169292 = X10,1 . 1 1
702241 = x114 1 1 1 1 1 1 1 1 1 1 2
1316701 = X134+ 1 1 1 1 1
1385101 = X154+ .
2140161 = x17,0 1 1 1 1 1 1 1
2140162 = x17,1 1 1 1 . 1 1 1
2675201 = X18,0 1 2 1 . 1 2 2
2675205 = 18,1 1 2 1 .1 2 1
2708641 = X1970 1 1 1 2 1 1 1
2708642 = X1971 1 1 1 1 2 . 1 . 1
3657501 = X20,0 . 4 . 2
3657502 = X20,1 . . . 4 .
7490561 = X214+ 1 1 . . 1 1 1
4062961 = X23,0 1 1 1 1 1 1 3 3
4062962 = X231 1 1 1 1 1 1 3 1
14364001 = x27+ 1 1 1 1 2 2 2 2 2
10533601 = X29,0 1 . 1 1
10533602 = X29,1 . 1 1 1 .
21330541 = x30+ . 1 1 2 2 1 1 1 1 2
11850301 = x32.0 1 2 2 2 1 . 1
11850302 = X32,1 1 2 2 2 1 1 1
13543201 = X33,0 1 . 1 1 . 2
13543202 = X33,1 . . 1 1 1 2 2
13619201 = x34,0 1 . 2 1 2 1 1
13619202 = 34,1 1 1 2 . 2 1 1 1
27238401 = X35+ 1 1 2 2 2 2 .
15759361 = x37.0 1 3 2 2 2 1 1 1 1 2



(Block 1:) ®6,1 P70 P71 P80 P81 P90 P91 ¥10,0 ¥10,1 P11,0 P11,1
11 =x10
lo =x1.1
2661 = X2+
7601 = x40
7602 = x4,1
33441 = x50
33442 = X5,1 .
175561 = xe4 | 1
89101 = xs,0
89102 = X8,1 .
94051 = X9,0 1 .
94052 = Xo9,1 1
169291 = X10,0 .
169292 = X10,1 1 . .
702241 = x11+ 2 1 1 . .
1316701 = Y13+ 1 1 1 . .
1385101 = x15+ . . 1 1 .
2140161 = X17,0 . 1 1 1 .
2140162 = X17,1 1 . . 1 1 . . 1
2675201 = X18,0 1 1 1 1 . 1 . 1 .
2675202 = X18,1 2 1 1 . 1 1 1 .
2708641 = x19,0 1 1 . 1 1 1 .
2708642 = X19,1 1 1 1 1 . 1
3657501 = X20,0 . . 1 2 .
3657502 = X20,1 2 1 . . . 2 . .
7490561 = X21+ 1 1 1 1 1 . 1 1
4062961 = X23,0 1 . 1 1 1 1 .
4062962 = X23,1 3 1 . 1 1 . 1
14364001 = Y274 2 1 1 2 2 1 1 . .
10533601 = X29,0 2 2 . 1 1 1
10533602 = X29,1 . . . 2 2 1 . 1 1
21330541 = Y304 2 1 1 3 3 . . 1 1 1 1
11850301 = x32,0 1 1 . 1 2 1 1 . 1 1 .
13543201 = X33,0 2 1 . 1 1 . 1
13543202 = X33,1 . . 1 1 1 1 . .
13619201 = x34,0 1 1 . 1 2 . 1 1 .
13619202 = x34,1 . 1 2 1 . . 1 . 1
2723840, = Y354 . 2 2 1 1 1 1 ) . 2 2
15759361 = X37,0 2 2 1 3 2 1 1 1 1 1 1




(BlOCk 13) ©Y12,0 ¥12,1 ¥13,0 ¥13,1 L14,0 P14,1 P150 P151 $19,0 $19,1
11 =x1,0
1o =x11
2661 = X2+
7601 = X4,0
7602 = x4,1
33441 = x50
33442 = x51
175561 = X6+
89101 = xs,0
89102 = x5,1
94051 = x9,0
94052 = x9,1
169291 = Xx10,0
169292 = X10,1
702241 = X11+
1316701 = X13+
1385107 = Y15+
2140161 = X17,0
2140162 = X17,1
2675201 = X18,0
2675202 = X18,1
2708641 = X19,0
2708642 = X19,1 .
3657501 = X20,0 . 1
3657502 = X20,1 1 . .
7490561 = X21+ . 1 1
4062961 = X23,0 . 1
4062962 = X23,1 1 . . 1
14364001 = X271+ 1 1 . 1
10533601 = X29,0 1 2 .
10533602 = X29,1 . 1 . 2 . .
21330541 = x30+ 1 1 1 1 1 1 1
11850301 = X32,0 1
11850302 = X32,1 . 1 | .
13543201 = X33,0 1 . . ;
13543202 = X33,1 . 1 . 1 1
13619201 = X34,0 1 . 1 . 1 ' .
13619202 = X34,1 1 . 1 | |
27238401 = X35+ . 1 1 1
15759361 = X37,0 1 1




(Block 1:) | o100 ®1,1 ®20 ®21 $30 P31 P40 P41 P50 P51 96,0
15759362 = x37.1 1 2 3 2 2 1 1 1 1 2
16251841 = X38,0 2 2 1 1
16251842 = X38,1 2 2 1 1 . .
20314801 = X39,0 1 . 1 . . 1 .
20314802 = X39,1 . . . 1 1 1 1
24076801 = x41,0 1 . 2 . 2 . .
24076802 = X41,1 1 . 2 . 2 . . . 1
26611202 = X421 3 2 1 1 1 1 . 1 .
29859841 = X44,0 2 1 2 1 1 1 3 . 3
29859845 = x44,1 1 2 1 2 1 1 3 1
34242561 = X46,0 1 2 2 1 1 .

34242562 = X46,1 2 1 1 2 1

38782801 = X47,0 2 2 1 1

38782802 = X47,1 . 2 2 1 1 . . .
45619201 = X490 1 . 3 2 4 2 1 1 1
45619202 = x49.1 1 2 3 2 4 1 1 . 2
51030001 = X51,0 3 3 2 4 1 1 1 . 1
51030002 = X51,1 3 3 4 2 1 1 . 1 .
51030003 = X52,0 3 3 2 4 1 1 1 . 1
51030004 = X52,1 3 3 4 2 1 1 1
93326351 = X53,0 3 2 3 2 . 1 .
53326352 = X53,1 2 3 2 3 1 1




(Block 1:) ®6,1 P70 P71 P80 P81 P90 P91 ¥10,0 ¥10,1 P11,0 P11,1
15759362 = 37,1 2 1 2 2 3 1 1 1 1 1 1
1625184, = 35,0 1 1 2 1 1 1 1 . 1 1
20314801 = X30.0 1 1 . 1 2 ) 1 1 .
20314805 = X301 . . 1 2 1 . 1 . 1
24076801 = x41,0 1 3 . 1 1 1 . 2
24076802 = X41,1 . 3 1 1 . 1 . 2
26611205 = x42,1 1 2 1 1 2 1 1 . 1 1 .
29859841 = X440 1 1 1 4 3 1 . 3 1 1
29859842 = X441 3 1 1 3 4 1 3 1 1
34242561 = Y46.0 1 1 2 3 ) 1 ) 1 2 1
34242565 = X46.1 1 1 3 2 1 . 1 . 1 2
38782801 = X47,0 2 3 1 2 1 1 . 1 1 2
38782802 = X47,1 3 2 2 1 1 1 1 . 2 1
45619201 = x49,0 2 3 2 3 4 1 1 . 1 3 2
45619202 = X491 1 2 3 4 3 1 1 1 . 2 3
51030001 = X51,0 . 1 2 6 5 1 1 2 1 2 3
51030002 = X51,1 1 2 1 5 6 1 1 1 2 3 2
51030003 = X52,0 . 1 2 6 5 1 1 2 1 2 3
51030004 = X521 1 2 1 5 6 1 1 1 2 3 2
53326351 = X53,0 1 3 2 4 4 1 1 1 1 3 2
53326352 = X53,1 2 3 4 4 1 1 1 1 2 3




(Block 1:) ©12,0 ¥12,1 P13,0 P13,1 P14,0 P14,1 P150 P151 P19,0 P19,1
15759362 = X37,1 1 1 1 .
16251841 = X38,0 . 1 1 .
16251842 = X38,1 . 1 . . . 1
20314801 = X39,0 1 . 1 . 1 1 1 .

20314802 = X39,1 1 1 1 1 . 1 .
24076801 = x41,0 . 1 . 1 1 . 1
24076802 = X41,1 1 1 . 1 1
26611201 = X42,0 1 1 . 1 1 .
26611202 = x42,1 . . 1 1 1 . 1
29859841 = X44,0 2 . 2 1 1 . 1
29859845 = x44,1 2 2 1 1 1 .
34242561 = X46.0 1 . 2 ) 1 1 1 ) 1 .
34242565 = X46.1 1 ) 2 1 1 . 1 . 1
38782801 = X47,0 1 . 1 1 1 . 1 1
38782802 = X47,1 . 1 1 1 . 1 1 1
45619201 = X490 1 1 1 1 1 . 1 1
45619202 = x49.1 . . 1 1 1 1 1 1 1
51030001 = X51,0 1 1 2 2 2 1 . 1 1 .
51030002 = X51,1 1 1 2 2 1 2 1 1
51030003 = X52,0 1 1 2 2 2 1 . 1 1 .
51030004 = x52,1 1 1 2 2 1 2 1 . 1
93326351 = X53,0 1 . 2 1 1 2 1 . 1 1
53326352 = X53,1 1 1 2 2 1 1 1 1

v10 = 1 w90 = 69255,

pv11 = 1o w91 = 692559

w20 = 133; Y100 = 84798

w21 = 1332 Y101 = 84798,

Y30 = 6261 Y110 = 1317471

©3,1 = 6262 ©11,1 = 1317472

Y40 = 24511 Y12,0 = 1452751

Y41 = 24512 Y121 = 1452752

Y50 = 63261 Y130 = 1702581

©5,1 = 63262 ©13,1 = 1702582

Y60 = 81521 Y140 = 3352931

Y6,1 = 81522 Y141 = 3352932

Yro = 92711 Y150 = 6385711

Y71 = 92712 ©P15,1 = 6385712

wso = 544731 Y190 = 7843791

©8,1 = 544732 19,1 = 7843792



Block 2: | w160 20,1 ®221 ©23,0
6531251 = X24,0 1 . . . ©16,0 = 6531251
27843751 = 43,0 1 1 . ) p20,1 = 21312509
32000001 = x45,0 . . ) 1 P21 = 2678125,
48093752 = X50,1 . 1 1 . $230 = 32000001
58781252 = X54,1 . . 1 1

Block 3: | v16,1  ¢200 ®220 ©23.1

6531250 = xou1 | 1 , , , Pr61 = 653125,
27843755 = X43,1 1 1 . . ¥20,0 = 21312504
32000002 = Y51 , , o pao = 2678125,
48093751 = Ys0.0 , 1 1 gos1 = 3200000,

58781251 = X54,0 . . 1 1




